BA

21130 %&;

L1 |
-——Ilg‘-—
. —c----.ﬁ
=]
e
I L2
@ L4

L3

.

-2
(274
nlin
|
¢
|
]

Y

ANV

D5 (DIN 974-1)

7= miiEA

ME

HESHMARINBIE , KARELE,
TEMESEE , KITELE,

TN L4T | SRELIBLY

B HASIT , REF.

g
SEFHNREERE/NTF 0.02 mm. BHELLIT | AAFARE,

BR:

BEJLFEEBRNSHMET TERNLT |, F AR TENTFNRE
“iT,

ZIERMZIER 5 10 MLk , 1 NZILITR 0.1 mm AR,
RBESUCEE  FRRITHNRYETUFREREBSEMNE. FBRAE
LERHEAESE,

6
*LEL

H4

L3
il

[

© norelem www.norelem.com



21130 &=

i
op

B B1/B2 D| D1 D2 |D3D4D5 H H1 H2 [H3 H4 | L L1 L2/L3 T Mx My | Mz
Nm Nm | Nm

ft K

TS

21130-104 | A 11,5| M3x0,5 3 14,5 13 64,5 29 46 10/1,5 X=28(10) |0,25/0,11 0,25
21130-108 | A 46|36 2126| 23 | M6x1 |8 |M4| 4 | 18 |14| 27 23| 14 |108,5/80 |46 75 20| 2 |14|200200f X=39(50) | 1,9|09 1,9
21130-112 | A 75|60 38|26/ 23 | M6x1 |12|M6| 6 |23,5/20| 29 27|15,5| 162 [133|75120 30| 2 |25|300/300| X =58 (100) | 55| 3 55
21130-204 | B 29|22 12|13|{11,5 M3x0,5 |4 M3/ 3| 11 | 8 |14,5 13| 8 | 64,5 |50 29 46 10/1,5/11|70|70| X=28(10) |0,25/0,11 0,25
21130-208 | B 46|36 2126/ 23 | M6x1 |8 |M4| 4 | 18 |14| 27 23| 14 |108,5/80 |46 75 20| 2 |14|200200f X=39(50) | 1,9/09 1,9
21130-212 | B 75|60 3826/ 23 | M6x1 |12|M6| 6 [23,5/20| 29 27|15,5| 162 [133|75120 30| 2 |25|300/300| X =58 (100) | 55| 3 55
21130-304 | C 2922 12|13|{11,5| M3x0,5|4 [M3| 3 | 11 | 8 |14,5 13| 8 | 64,5 5029 70 10/1,5/11|70|70| X=28(10) |0,25/0,11 0,25
21130-308 | C 46|36 2126/ 23 | M6x1 |8 |M4| 4 | 18 |14| 27 23| 14 |108,5| 80 |46 120 20| 2 |14|200/200] X=39(50) | 1,9/09 1,9
21130-312 | C 75|60 38|26/ 23 | M6x1 |12|M6| 6 |23,5/20| 29 27|15,5| 162 |133|75 180 30| 2 |25|300{300| X =58 (100) [ 55| 3 55

© norelem www.norelem.com



